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842. Rastaviti na činioce sledeće kvadratne trinome: 

 

a) 352
2

−− xx   b) 3592
2

−− xx   c) 4116
2

++ aa  d) 12203
2

++ yy  

 

 

 

a) =−− 352
2

xx  

=−+− 362
2

xxx  

( ) ( )=−⋅+−⋅ 3132 xxx  

( ) ( )123 +⋅− xx  

 

b) =−− 3592
2

xx  

=−+− 355142
2

xxx  

( ) ( )=−⋅+−⋅ 7572 xxx  

( ) ( )527 +⋅− xx  

 

c) =++ 4116
2

aa  

=+++ 4836
2

aaa  

( ) ( )=+⋅++⋅ 124123 aaa  

( ) ( )4312 +⋅+ aa  

 

d) =++ 12203
2

yy  

=+++ 122183
2

yyy  

( ) ( )=+⋅++⋅ 6263 yyyy  

( ) ( )236 +⋅+ yy  
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